Foundations of Mathematics 12— 1.6

1.6 — SOLVING INVESTMENT PORTFOLIO PROBLEMS

Goal: Analyze, compare, and design investment portfolios that meet specific financial goals.
Example 1: Determining the future value and doubling time of an investment portfolio.

Phyllis started to build an investment portfolio for her retirement. She purchased a $500 Canada Savings Bond
(CSB) at the end of each year for 10 years. The first five CSBs earned a fixed rate of 4.2%. compounded annually,

The next five CSBs earned a fixed rate of 4.6% compounded annually. Three years ago, she also purchased a $4000
GIC that earned 6%. compounded monthly.

a. What was the value of Phyllis’s portfolio 10 years after she started to invest?
b. Phyllis found a savings account that earned 4.90%, compounded semi-annually. She redeemed her portfolio and
invested all the money in the savings account. About how long will it take her to double her money?
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Example 2: Comparing the rates of return of two investment portfolios.

Jason and Malique are each hoping to buy a house in 10 years. They want their money to grow so they can make a

substantial down payment.
Jason’s portfolio:

%o A 10-year $2000 GIC that earns 4.2%,
compounded semi-annually

e A savings account that earns 1.8%, compounded
weekly, where he saves $55 every week

e A 5-year $4000 bond that earns 3.9%,
compounded quarterly, which he will reinvest in
another bond at an interest rate of 4.1%
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Malique’s portfolio: $38 813t

e A tax-free savings account (TFSA) that earns
2.2%, compounded monthly, and has a current
balance of $5600

e The purchase. at the end of each year, of a 10-year
$500 CSB that earns 3.6%, compounded annually

e A savings account that earns 1.6%, compounded
monthly. where she saves $200 every month
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Example 3: Designing and adjusting an investment portfolio to meet a financial goal.

Stan plays in a band. Next year, he wants to have enough money to buy a new guitar. The new guitar costs $1750,
including taxes and shipping. Stan works part time and can afford to save $15 every week. As well, he has $300 left
from his summer job. He needs an investment portfolio so that he can save money to buy the guitar in a year.

a.  Why might Stan include a GIC and a high-interest savings account in his portfolio?
b. Ifthe GIC earns 5%, compounded annually, and the savings account earns 2.9%, compounded weekly, will he
have enough money in a year? If not, how much does he have to save each week?

a. GIC - $300 Swinas occount - $1S/week
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